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PART - A : (:enm.

Thi . Voo
1. Which Act separated Burma from India ?

@ Government of Indian Act, 1935
\ ———

(B) 1833 Charter Act
((‘) R()Wlml Act -narie

(D) Minto-Morley Act
SIBSFFU L_th Ltoreney @j,@ulﬂ@ﬂ‘ﬂg@ﬁgj L9

QB 9| 18 JILI,M
(©) Qpenevr” FL 1 1h

M55
(B) 1833 w1 wée” 1 b
(D) s GL_m-1omial) &1L Lb

2. Name the Nayak who inaugurated the kingdom of Ramnad.

O Muthu Krishnappa (B) Muthu Vaduganathar
(Q) Chokkanatha Nayakkar (D) Vishwanatha E¥E
Qg Spmyens Clsm_miSleass Brussi wmi o E%
\gg'g./ &) (m ey ewrirLT
(C) Qendspns prugs

(B) wsz QUBFBIST
(D) afeyeupnsi
3. (i) The Mangulam inscription mentions the king Nedunchezhiya Pahdian.

(if) The Mangulam inscriptions were depicted in Tamil-Brahmi letters.

(A) (i) only correct (B) (ii) only correct
(C) Both (i), (ii) are wrong @ Both (i), (ii) are correct.

(1) wrmigenh sevQau B Limehrig wer CIBR e weT LD T>mIBDS).
(1) rmi@gend $606)euL (5 SLOp-197mb) e11pgisserTed QLTMESLILL L eoau.
(A) (i) @b a1 (B) (ii) or”- @b &M
(©) (), (i) @resdid seumy @ 0. 6 @ren@io
4. Which of the following statement is true ? EEE
(1) In Sangam Age the Kingship was hereditary. ’Elg%i
(1) The King was called “Ko”.

(A) (i1) only (B) (i) only

@ Both (i) and (ii) (D) None of the above

BLpsIL FHDISONG) GTMQI 2 GTELOWTETEa ?

(i) sBIssTVSH6 YrFThenLd LITbLIGH LTS

(i) yoai “Can” 616w Y pobsLILIL L .

(A) (ii) oL @b (B) (i) oL @ub
@ ) wpous (i) @raGid, (D) @aubde 510> @evevay

— e e L S

Fxplogaton) @ [Joskube |




5. Match the following :

a) St. David Fort (1) Calcutta

b) St. George Fort (i1) Pondicherry

¢) St. William Fort (ii1) Chennai

d) St. Louis Fort (iv) Cuddalore

(A) (iv), (i1), (ii1), (1) (iv), (iii), (i), (i1)
(©) (V). (i), G, (i) (D) G, (v), (), (i)
QuInHSSIS :

a) yafles GLalll Csm e () sevss5T EYE
b) yefls sgmigy CamenL (i)  wnesrig Ga ﬁ’%ﬁ

¢) yahs afevelwid Gam e (iil) GClaareane
d) yefls aruilev Csm el (iv) sLgri
(A) (iv), (i), (iii), (i) @._iv). G, (). (i)

(©) (iv), (iii), (i), (i) (D) (ii), (iv), (@), (iii)

6. The President of India can nominate
(A) 12 members of Lok Sabha
@ 12 members of Rajya Sabha _
G WIFS SEGU6 TV BluLbld s L1 (b LIeu T8 6iT
(A) Gorsseuss 12 o piferiser  (B) grgw FanLId@ 2 o I ISesTiseT

grew FenLs@ 12 2 mylifeigser (D) grgw genuisE 14 o w1 9estis 6T
Which house of the Parliament is known as Permanent House of the Parliament that never

-~ gets fully dissolved ?
(A) The Lok Sabha The Rajya Sabha

(C) The Ministerial Cabinet (D) The group of Ministers

BTL_T@HLOGIDSBGH GTbS e, [BTL_T@BLOGTDSBGHT BITBST S{GHaLITS MW ILGSDS ?
' LOMBlGUEISETE 6 4E

(D) SyedoL&FiseT &1L =
n from RTI Act, 2005 ? |
@ 30 days (D) 35 days
—__—’
FsauameL CUDIISDSTET HT6V

(B) 2 members of Rajya Sabha
(D) 14 members of Rajya Sabha

(A) s&seremau
(C) yew&sgemal
8. What is the time limit to get the informatio
(A) 20 days (B) 25 days
s Plub o Mews g Ltb 2005 e Lig

QUILDL{
@ 30 s s’ (D) 35 pr s

(A) 20 prseir (B) 25 pm&eir

9. The electoral system in India has been adapted from the system followed in the
() United Kingdom (B) USSR (C) France (D) China
@Bsw Gziged (LD
apms Qameren L L3l

& eTupPLIL@L Gsise perpsament: KeTLDD]

@/ﬁ/@@)nj@d)/ (B) Ggmalws papwnailed
(C) WGgmesrardled (D) Fawrmailed




10. Match the following :

1) Citizenship Act (i)
2) The Preamble (i)
3) Classical Language-Tamil (iii)
4) The mini Constitution (iv)
% (1), (ii), (iii), (iv)
(i1i), (iv), (i), (i)
Qumrmsg)s ;
1) ®yyfenwnd s1° 1 1b (1)
2) upseyeng (ii)
3) Q&Lb@mrr(ﬁ-gl.&:cb (iii)

4) B AT weven oIy (iv)
(), (i), (i), (iv)
(111), (iv), (ii), (i)

-

42™ Amendment

2004

1955

Jawaharla] Nehru
(B) (iii), (iv), (i), (i)
(D) (iv), (iii), (ii), (i)

42 ug rPwevenioliLF &L'—l—.@,@@gg‘m
2004

1955 %
gasierey Gpm Ol%

(B) (i), (iv), (i), (ii)
(D) (iv), Gii), (ii), (i)

11. On which river Tehri dam was constructed ?

(A) Kosi (B) Krishna (C) Narmada () Bhagirathi
QSN oyament e1bs pPer GmsGs SLL L’ Herarg ?
(A) Gamra (B) @wayewrm «  (C) miwens @ unggs

12. Which country shares its shortest border with India ?
(A) Nepal (B) Bhutan @ Afghanistan (D) China
GDIFwW Flev erevemavanw QBSWT e1hs BT BT USNBE CsTEDS 2
(A) Gwumerbd ~ (B) yr_medr
@ 9 LIsmestlavsg e (D) Gewrr

13. Where is the National Jute Board headquarter is located ?

@ Kolkata (B) Mumbai

Ca&lyr semred ourMgSeHT SEELOWSLD 6TmIE ILOBSIGTeNG) ?
0 )

&Mev&5551. (B) wpbenis
14. Which of the following is true ?

(C) Chennai (D) Delhi &4

(D) Or_aal

Assertion — A : Tamil Nadp 1s located in Deccan Plateau.

Reason — R : During cretaceous period this part got separated and formed Gondwanaland.

(A) ‘A’is correct/ ‘R’ is wrong
@ ‘R’ is not related to ‘A’

YereusLieeuppled Fiwneig) ereney 2

(B) ‘R’is correct/ ‘A’ are wrong
(D) ‘A’ and ‘R’ are correct %%3

gapm : Suspu LI yLh) eTeriu@G)b gé;&rrcm Sy flulled S0 psa

QYD LOHSI TS

sngestd : QUGS S6rC CLfwev snrewgSe LIMbg Ceem Caressr” aumagy

Baliuguileh o (meuner @@ LGSWIGLD.
(A) sppy sfwneng) /snoesib seupreng) '

smyewih Fflwnen aleTdsd e FmPHIDS

iB; snyessib Flwmest eund@wib/ DM SQUDTEHISI
(D)

FDmy LPDILD STgewd @perRib Ffl
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15, Mateh the following :
Hill Station State
1) Mussoorie 1) Himachal Pradesh
) Shimla 1) Kerala
1) Munnar ii1) West Bengal
4) Darjeeling iv) Uttarakhand
A) i, i i 1V (B) iv, ii, i, i
h v (D) iv, iii, i, 1
QUITRSSIS
: o . ESE
oeme T MIg 6T LomBlevih ,s%
1) awGeah ) @urdseiiyGssn B
) @ubevn i) Gsgerm
3) apewingy iii) Gp@ eunismrerh
4) o niedeSmi iv) o g@osned
A) 1,1 i v (B) iv, iii, i, ii
\i v, i, i, iii‘ (D) iv, iii, i, 1 v

16. Which hormone is associated with our immune system ?
(A) Insulin @ Thymosin (C) Thyroxine (D) Adrenalin
ping Crmild SL_STUIL LOSTL VSFIL 6T Qe mL_yeoL_w apriGLoneT 6%l ?
(A) @eraaSedr Mmg.@wnﬁcﬂ (C) engoréeder (D) 9y L"_Mesradlesr

17. Assertion : Mitochondria are called ‘Power house of a cell’.
Reavon : They produce energy rich ATP molecules.
(A) Assertion correct, Reason wrong
(B) Assertion wrong, Reason correct
() Assertion and Reason both are wrong
@.\sscﬁiom and Reason both are correct

ENOR ol AL rsrent. Aundser  QFaller JGNmEyt &6 GTGIMI
HOPESUUHE DT
areand | e WeosuTHDL Qupp ATP apevdsmmpsenar 2 (HUTSSGS DS
(A) &y &5, sToewnd S B) s&pmy Seuml, STIewILD & )
©) appy, srremd QreviEid san FDmy, STenIb @)ges(hLd gM v
18 Match the following :
2) Vitamin C 1) high fat ol
d) Avoacado 2) iron
Q) Secthaphal 3) fat soluble pigment
& Carotenods  4) Guava
AL (B) 3421 © 1432 @123
QU gs
2) 2 Widadg C 1) «8s yerey Qargpiy
Y aalsdun 2) @@Lbué F33/
J) Syn ugpd 3) Dangpuled sojudsayu Bl
& a3 samo@sesr 4) Qamiwun
______ Q) 2134 (B) 3421 © 1432 @123
o~ —
Dol @ Yooutuds
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‘A di . and makes it brittle is
19. A disease which weakens the bones and 1

- -
(A) Paralysis @ ()Slw (C) Fatigue (D) Nerve I.mpugs)amm@
STQLD L& e T 01@105759;; Qwiigl VD@D o-eOL L5 19.W Hlevaws s
Oleabayih Grmis
(A) védsaingib (@%dvl;u@wn@un(}’an@m\/
& %

20. Select the correct option : _ o .
Statement — I : When vegetables are cooked in water Vitamin — C is lost.

Statement — II : Vitamin — C is water soluble in nature.
Statement I and II are true (B) Statement I and II are false

(C) Statement T=true t—Talse (D) Statement I — false, II — true
Fhwner aflen_avws G‘gﬁilj@g@..

SonI-1: smissamer Sle smws@Gd CGung), o ulisdszsg —C Qs ILBS DS
Sapmi— 11 : o iss58 —C, S s@IYLD Seianip CEretm_g).

Fpmi 1 wppyh 11 &M (B) sapmy I opmyd 11 geumy
(©) &ppi T, 1T seum (D) gmpmy I soumy, spmy 11 &4

21. When white light enters a medium, which colour travels with highest speed ?
(A) Yellow w (C) Violet (D) Blue
Classirener gafl @i sen_sg@eyer Qg Guig, ebs Apb s GaussBd
GlFevay b

(A) wo@ssair @ pary (C) sargm (D) Sevib

22. The instrument used to detect the presence of electric charges in a body is
(A) Microscope (B) Voltmeter @Electroscope (D) Ammeter
Cumrmer @eled L6tz s erser QBliums s Pu LUSTLRSSLILBL Smad
(A) miessrCeswrrss) (B) Geumevr” 181"t
@ﬁmwr.&c&r&sm;g. v (D) bl

- oRiD)
. V=IR ,%a
# : Ofg

(1) The above formula was given by George Simon Ohm.
(ii) In this Formula “V” stands for potential, ‘I’ stands for current and ‘R’ stands for resistance.

(A) Only (i) is correct (B) Only (ii) is correct
Both (i) and (ii) are correct (D) Both (i) and (ii) are incorrect
V=IR

(i) Gopamplu swerun® gmig esiper QLD eTeTLIUITEY Blmyeuiini L g).
(i) Cupsmplu swarur yea V’ aeTug Wearerpsssaosuyb ‘1’ STGTLIG)
lenGern’ Lgemsuyh , ‘R’ TG LOGHTGeL_LowLd &M1& ELb.
(A) () @b &M (B) (ii) o @b &M
(i) ppub (i) &M (D) (1) wpmyb (ii) sMwebev




T

24. Which nuclear fusion produces en i
s energy in
(A) hydrogen to sodium sl

hydrogen to heli
O Jycrogen to helium (D) hydrogen to iron

D et $6@ @enemaflantey @ fuefis
ManL. .
B ettt e, aBusBeighs mao i
- BCIGh8 pOuds (D) amant sgallalnis @by
25. Cryogenic propellants used in rockets are at
(A) very high temperature
(C) room temperature

(B) lithium to hydrogen

HPD 2 (HUTHESIDG ?

(B) high temperature
very low temperature

@uratlsl Bseiie) LWSTLBSSLILGL HyrGun Ggans @us@ Clumarss
(A) s s CleuliBlencvuiley QBéEw

(B) «8s Gauliuflenavuileh @)5é@Lh %
(C) sy QeuiuBleneuilch @)m5d@Lh e
Baé Gepps Gleuliupleeuls @) me@w
26. Laughing is good for health, because it reduces the secretion of stress hormone secreted
b *  and makes us to relax. _
((AE Adrenal gland (B) Thyroid gland  (C) Gastric gland (D) Thymus gland

PO 2 Lad@ bovws glaelissy ARy, smali apriGrerter
FI55O® GODSS T QUL Bl 6lsTe() UBE DS

9L_Mewed &yl (B) enggmii(® Fylid
(C) &gewr &gu9 (D) eswav &Ll
27. A sudden change in the genetic material of an organism is called
(A) Hybridization (B) Natural Selection
@Mutation / (D) Mass Selection
@i sllfers@ar wyylCur@maies Sieblyer gpuU@Lb LADDLD TG
S s&LILGEDSI-
() soipssd ® Quomas Gsiol 1o Jtoc @

M 568 wipp™ (D) sl G5 Giiey b
28. In which of the following plant food is stored in stem ? / ‘#
(D) Radish

() Beeydot.  (B) Carrot

Leireu(paUSTAIDDIET GTSSTUTLD SELY D 2 GRTenal Ces@eTmg ?
@\aﬂmm&@yiﬁl@ \// (D) wperensi&) E%j

29. Choose the correct pair.

(A) Vitamin A — Rickets (B) Vitamin D — Xerophthalmia

£ Vitamin B, — Beriberi_ (D) Vitamin B, — Scurvy

shwner @)enemenw 319210

(A) eveul” L their A — M&Gl&sL e (B) eweu LAt D — @Gpmiigmeviblum

eeuL L Lhleir B, - QuAG M v (D) emaur’ L thleir B, - avsiall

qb 26699 43 / Q9 ASDL’ZFZ/‘?Z
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30. ELISA test and WESTERN BLOT testare used todetect  disease.
(A) Typhoid m”)s (C) Polio (D) Cholera .
stellen Qengene lDﬂ)g,)ll-b‘ Qevevr L e erm” Gangenesr  Gmmi Lm®iy
STy LIWIGSTLI (D@D G-
(A) @ Sumi i ,‘%ﬁ
(©) @embiVerenenr QungLh (D) snevgn Ol

31. Assertion (A): The President is the Supreme Commander of the Armed forces of India.
ason (R) : The President is the head of the State and occupies the highest position.
“A’is correct and ‘R’ explains ‘A’ (B) ‘A’is correct and ‘R’ does not explain ‘A’
(C) “*A’is correct and ‘R’ is wrong (D) Both ‘A’ and ‘R’ are wrong
SO L GUQwIss seaai QBB QusiLLseldr saweants SeTUS
<}, GUTIT.
STICRTLD  GUQWISS ST BT YT Samaaprsah L% 2 wiks Lsad
Blevevepwub uFES .
@ Fpm) &M, SnyewILd SFPMISSTRT FNUTET QeSS LOME LDV
(B) spmy &, smyewiib spmdasrer suner aNerdsoaev
(C) smpmy #M, snpewrib seumy
(D) spmi, srgewid @uew®id Saum
32. Who iptroduced the Local Self Government to India in 1882 ?
Qitd Curzon  (B) Lord Wellesly (D) Lord Hasting
g :cgymwuqesmm 1882 &b @rBwradled ymlwpsLiL®SSweut wri 2
L (B) GeuebGleveval) gy
(D) Gamevigmiev Ny

33. Where is the headquarters of BRICS Organisation located ?
{m (B) Brazil (C) Russia (D) South Africa
Yif&ev LG SEeEnLOWSLD 6TRIE HYLOBSIGTOTS 2.

(B) 9Gr&e» v (C) papwm (D) _Qg,cirmnmﬁhﬂés&rr
34. The disputes between Central Government and the State Governments are adjudicated by
(A) Parliament (B) High Court (C) President mrupreme Court
LoSBw-LomBlev YTFMISHISET @eL_ulevnar Fésaaar SiSg ad@GLd HLOLIL) 615 ?
(A) pr_mepespLb (B) 2wid®wemid BEE
(C) Gyurss s B =Fppusmnt B
35. Which of the following State have a common High Court ?
(A), Tamil Nadu and Andhra Pradesh (B) Kerala and Telangana
'Punjab and Haryana (D) Maharashtra and Gujarat
Easngmiib e1pg mplevriser Qungenar 2wt WSS ClupmyeTarer o
(A) sPEI® wHmyb BB 79Css> (B) Gspgenm oppitb Osemis e
U@sFTL pmh apMwnem v (D) wangrayg o P SLITS
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36..which Indian has won Nobel Prize i

(A) Kailash Satyarthi " Economics 7
© 5 Clxdn et @ Mot
QUIGETTSTISBID CBruch Lfs: Qg J A

(A) @EVTaY SSWTIHE) D @B@wit
(C) e1év- FBGy Cosir (B) yatrema GlHI&T

@) 2955 Cueig) v
37. which of the following is a direct tax 9

(A) Excise duty (B) Customs duty O
gD DET 6181 Chips eu o
(A) @M ) (B) &g auf @/ ausLomest euril (D) Geenau curfl
38. Which district in Tamil Nadu has the highest sex ratio as per 2011 census ?

The Nilgiris (B) Nagapattinam  [BI5E]
(C) Thiruchirapalli (D) Thanjavur 5%

2011 a;swa%@:&@ud?drum, SWOPET e THS wreul L uraler afl&sLwD
HLOME 2_GTeNg)

Income tax (D) Service tax

po&i | (B) mAsLiL 1g.6uiLb X ?L\,
(C) Bé&oniiueref (D) s@EpaT@yT J
39, I) Nationalisation of banks was effected in 1969. 0\\0 3
I1) ICICI is a Nationalised Bank.
@ Only 1 is true (B) Only II is true e
(C) Both I and II are true (D) Both I and I are false™

1) 1969 S(mpg umBSET BT HLPOWNESD Qw6 136D 2 6Teng).
1) ICICI ereiriigy @@ CsSwiowiondsuLr L YL

B 1 oo o (B) 1l i @b &1

(€) 1 opguid 11 @oedr(Bid & (D) 1 wpmywd 11 @oawr(hid Seumi

40. Stock Markets in India are regulated by
(A) RBI "f 3 (B) Ministry of Corporate Affairs
(C) SBI = @Sy ?%,3
@bSwralled LmISG &im%*@@ﬂ@ﬂu@g‘gm‘g a5 ? Ol
(A) @QBSuw Meies s ' (B) Quew Hlmyeuar aIeusTmIser HeLoFFELD
(C) ovBLr. Cumid U @B @ @jﬁ,@u L wppib ufleuisgeames eunwih
41. Find out which one is not in the Food Quality and Safety Control Agencies ?
(A) FSSAI (B) AGMARK a FICCI (D) FPO
Weraupeuarappled 615/ 2-1ay LoPHMILD 768 QUUTR BlpeueTb e
(A) FSSAI (B) AGMARK @ riccl (D) FPO v




42. Pemicious anaemia is a deficiency of Vitamin.
(A) Iron @ﬂanﬁ{@lm
(C) Folic acig (D) Vitamin K
@uﬁm’s@u 1o @nds Garammais apLOdanh o uilirdas g @eopLn
(A) @(’5‘5‘43’8#@/ ' @mu(é’mrr_(gxsm inmeuLhlesr ./
(©) Bunada; yifevin (D) o witdagg K S
43. AQ example for decomposersare . and I’E]%}

Bacteria, Fungi (B) Bacteria, Lichens

(C) Fungi, Tichens - (D) Algae, Lichens
guummmg@&'@ ﬂ@g;g,é;gm'_@&dr Lo mith
Uﬂém/ﬂwmiga‘r, Ly @HanF 6T (B) ungie Munsser, amevsd6)setser

(©) Hevyanssar, enevdblaaigen (D) VS TS, evs6)seiser

44. Identify the true statement with reference to noise pollution :
Statement - I : Nojse s the unpleasant sound.
Statement - IT : Reduces depression and stress,
Statement | only true (B) Statement II only true
(C) Statement Tan are true (D) Statement I and II are wrong
@& wrs GDI$s silwnar urs@usds S fs.
UTSEBunb-1 - QaNewwpn @mrésnar gal.
UTES D~ 11 : 1par Gemitay (10) HWSSSms GdDEEDF).
Qurg@um) [ " @b &M (B) aung@uib 11 " Qb &
©) mn&@u]w Loppb M enwneg (D) ené@wib 1 wpmyb 11 SUDTeZ)

45. Match the following "

Conservation Law Year
1) Project Tiger - a) 1992
ii) Project Elephant b) 1999
1ii) Sea Turtle Conservation Project c) 2020
iy) Indian Rhino Vision d) 1973

i—-d di—-a iii-b iv-c
B)T=a di-c¢ di-d v=b
(C)i-b ii-d iii-c iv-a
(D) i-c ii-b iii-a iv-d
Qunwsss :
Conservation Law &Y Year
1) yellaer Lungsmiy S b a) 1992
i) wnenerser LNgIETIL S L Lb b) 1999
i) &L60 Yeioser LUNFISTLIL G L Lb c) 2020
iy) @QBSw srem_mbmshiser ungesmiy S d) 1973
i-d ii-a iii-b iv-c¢
(B)i-a ii-c¢ iii-d iv-b
(C)i-b ii-d iii-¢ iv-a
D) i-¢ ii-b iii-a iv-d




%The vacuum Flask was inventeq by

46. A Kelvin B
M Eg; :)-\ntoilllc Lavoisier
PIL-& . asca
@mpﬁ’%:ﬂ SODDU Sein (g 4,
B @mf v i (B) 9y6070)_mii1asT eveumiieduwst
@ gL Bat v (D; Z?%rcfvgab
47. While g(:lng tfolrFa ride in men}'-BO-round You experience an outward pull, this pull is due to
L trrlpeta' (l;rce @ Centrifugal Force EYE
(C) Electrostatic Force s g

GO QT 1y g Hev SDmILD G)urr@
sl 2 eRTi&)S g 6ir, Qcialenas s
(A) oww Crrég aflans @ww alwse@ aflas v
©) pleve Weranwe afens % &M allens \

, Brizer QeuallGrrasu Heavsuiled @)1Lp
& &myewrLd

48. Choose the correct pair
(i) Atmospheric pressure

a. Newton

(i) Force b. Pascal

(iii) Mass ¢. Kilogram/metre?
d.

(iv) Density
(A) (&fg (ii) ¢ (iii) d (iv) a
@ ()b (i) a dii)d (iv)c

©'G)e (i) d Giii)a (iv)b
(D) ()d (ii) ¢ Giii) b (iv)a ‘
siwnen @enamrenwiss Bsiih 05 (Hés M
(1) welloar_cv ypssLd

(1) aflems b. umevsev
(i) Aenm c. &Can&gmib/8L" 1
(V) YL i$S) d. ®Cevr@gmib

(A) ()b (ii) c (iii) d (iv) a

B ()b (i) a (i) d (iv) c % —
©) ()c (i) d (i) a (iv)b &
(D) (i) d (i) c (i) b (iv)a

49. Which unit is used to measure the intensity of sound ?

(A) Hertz (B) Light Year (C) Candela @ Decibel
@dluier Qemeureng) 615 HYvsTe Tl LILGSDg) T ———
(A) Qapi eiv (B) gofl yaw®  (C) Csamgen @ OLQued V

30. Boiling point of water is 100°C. Its value is equal to

(A) 273.15K @ 212°F (C) 100K (D) 200°F
Elsir Qar@Penew 100°C. @ bo@Liip@s sLoneng)
_Wisx @ 212°F (© 100K (D) 200°F
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51. Which country will host FIFA 2022 World Cup 9

(A) America # Qatar (€) Russia (D) Brazil
CTBS BB 0% Noiin zln; o awad GHTUIE LGy, BL_dpayereng) ?
(A) HOwhdan @ﬁ#},ﬂ,l”’” (C) vaipuin (D) 19Co&)s0
52. ) NATO is established for providing mutual defence to member countries from an attack
by an external party. QR{D)
1D Russia is a member of NATO. I,B%
which of the above statements are true ?
Only !" (B) Only 11
(©) BothTand 11 (D) Both I and II are not true

D) NATO erairig 8@ Claveliggilemien gns gz @umis o piiy H1HSE35E
UgevLIT Lng&risns s Apeuiul L g,

) reywr NATO afisir o gyiifemyns 2. 6ang).
CuGev Qa;rr@éa;uut;l_gj,@@ b3 FPYI Filwneng o
I i @b B) 11 ' @b
(©) I wppub 11 (D) T wpmys 11 saupressy
3. Who is the first Indian to have won Golden Globe Award ?

(A) M.S. Subbulakshmi 4. (B) Latha Mangeshkar

(C) S.p. Balasubramanyam el @i\ R. Rahman
Canev_air &Cent alpans G)upt_m(y)gsv @BSwi w9

(A) e1b. e1av. HLILjVFHLE) (B) ewsm wriGseavasmi
(C) erav. 9. umresE I gD WLILD é 6T. . gapiomasr >

A

54. What is the expansion of UAV ? E‘;&E
(A) Unarmed Aerial Vehicle (=l @ Unmanned Aerial Vehicle

(C) Unique Armed Vehicle (D) Unmanned Attack Vehicle
UAV @eir alfleungsib ereirer 9
AA) yeirgymb® efwed eurseid @ yeonasi(® eiwed aunsewth
(C) yafld gy mb® eunserid (D) Syerone(® <y _né eunserih
5S. International Yoga Day is celebrated on
(A) January 30 (B) May 1 @ June 21 (D) November 19
2.wa Guran Benb epg prefled Qareawm_LiL@@ng o
(A) gawreur 30 (B) Gw 1 @ M (D) maubui 19
S6. James Chadwick discovered the particle is ’
(A) Electron (B) Proton @ Neutron (D) Positron

GegLbaiv s’ alld &ein ()i b &ISG6iT
(A) e@vsgnair  (B) 1yGunc’._meir @,@gf—ﬂ”‘ﬁ (D) wneld gresr

S
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57. gtatement : The reaction that takes place ; ‘ o
Reason : Because iron is converted € In rusting of Iron is oxidation.

both Statement and Reason ar 10 its oxjde.
€ corr .
(C) only Statement is correct - ~OTrect (B) both Statement and Reason are incorrect

s @@y Quis s (D) only Reason is correct
:f@m. AT 26U 55694 penL_Gumb adlenet ydedgCanppLd
GwILD : afla ; :
g&.@éﬂl ZG?me - @@'mq BN YdewsHaorns wIPOHILGILD.
i DDILD STISHILD QST BILD &) (B) gapmy LoPMILD STIGRTLD (3)7685T(HILD saum)

(C) dpmi wL_(pb & (D) smgewib wi b &l ori0] -~

Ll

58. Choose the correct acid and its use. =
(A) 'nftrlc acid — digestion of food (B) sulphuric acid — bathing soap
@ vinegar — preserve food materials (D) benzoic acid — detergents

ghwnet YLblevib LPmIb BT LIWeTsened €2%110E10)

(A) epLAg 9bevib — LMQ/UG?urr@s;ramﬂsir AEZ TN 1)
(B) #evliyfs yblevid — @oflwed Gamiy

a -afﬂasﬁar'r — 2 a1 Glummpenr Qs HBursTLd @)(HSS
(D) Gusitgnuild gyblevib — sawenau Cenriy

59. Which gas is responsible mainly for ‘Taj Mahal’ turning yellow ?

@ sulphur di oxide (B) ammonia (C) chlorine (D) hydrogen
STHLOADTE, LDEFET FIDLONG LINISHE e1hs ML (LpeH&Iw SMIGRILOTSIDS] ?
s oL Y[ (B) ybCuomesflwm
(C) &Genrmietr (D) ewami gggest
60. The most commonly used cooking gas contains LPG which means ?
(A) Low Pressure Gas @ Liquified Petroleum Gas
(C) Leak Proof Gas (D) Low Phosphorus Gas

Quiguns Bs yeralled LWETLHILD FLOWD aumyalley 2 erer LPG ereirg)
(A) @oDHES (WSS T Braunssriul L Gul Grallw eumy
(C) s&feuenL_wng eumy (D) @epis umevLITaV QUL

61. Who is Greta Thunberg ? gs%?

(A) A Scientist
(C) A Tennis Player
QL L1 seGLid eresTLaUT w9
(A) @@ adesesme]
(B) @ apredayjL 15T
€) @@ Qshafleiv afit

/@ R LHeBlee LrHDSS DS FDMIFSHLPED Y TeueviT

——

(B) A Holywood Actor
@An Environmental Activist for Climate Change

k

e
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62. What is INg VIRAAT 9

(A) Submarine o lip
.‘\ij\‘l‘:lﬂ Carrier N6 it
. eTeN, 670’1.‘27-6—179:’7»!»717 TG MTGY eTaHIENT ?
A B apip@ SUIL6) s Sl ey
@ mfﬂmnmnb*ﬁnm'l@ a,l:l'_uGi) W) wejaeion
63. Match the l‘ollmving : ONID)
(@) Ponniyip Selvan és% ) Seethale’ 7 £
() Manimegala; -
(©) Kuyil Paaty (i) Kalk
a S‘i.vappu Kazhuthudan Oru Pachai Paravai (iv) Subramanya Bharathi
(), (1), (iv), (ii)
(B) (). (i, (iii), (iv)
(©) (), GasGiv), Gii
(D) (i),4ah), Gy, (iv)

QU dss
(@) Quneiradufesr ClFsvaresr

(1) &3z Fngsgemmt
() wefiGuwsama

(i) C.S. aaisch

(©) guied umC (g (iil)) sev&)
a% LIy supss e RO UsF updeu (iV) sligwenflu LTIS)
(iii), (i), (iv), (ii)

(B) (i), (i), (iii), (iv)
(©) (), (i), (iv), (i)
(D) (@), (i), (i), (iv)
64. Who is the President of Ukraine Y
Volodymyr Zelenskyy
(C) Boris Yelstin (D) Denys Shmyhal
2 mpaflel &9 wiss Seveveur wmi 2

Goumevig LB Glaeveitend) UB) allevmg 5 119 ir
(C) Gumilav erevavie it (D) Clsiraflav Quimbanmed

65. As on 31* Jan. 2022 which State has installed highest overall renewable energy capacity in

India ? ESE
(A) Karnataka (B) Gujarat E%:
(C) Maharashtra @jamil Nadu

31 gawaur 2022 6ir feveuniing, e1ig wrhlah HSs Clseireneney Smesr QasmerrL
5119455555 e1iads) gy pped Hpeuiul LB wpsedib WEEEDg o

(A) &imm_sLb wvB) GgIs
(C) wamynaeiyy gib @.ﬁ’-&lf’ﬁ”@ 2 -
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ﬁé& which is wrongly matched ?

(A) [gnc;ous Rock - Lime Stone
(©) Sedimentary Rock — Sandstone B) Intrusive Igneous Rock —~ Sill
PP 618 Saupna; Q“"@";@ﬂ{cﬁq }) Metamorphic Rock — Diamond
'UIT . . . 5 T ] R — : e E—
(A) 8u «:mv FETEWATLDL Lireny) B ) ,
(C) UG- NLILTEOD — LoewidLimany, ﬁaw@@mﬂu/ Blinenp — Fab

o (HLOAPILI LIMEHD — eHEUILD v/

67. Mangrove Forest is located in distric
@ Cuddalore (B) Colmbators Strict. E5E
— . : imbatore ‘ .%.3

hibte (C) Dharmapuri (D) Salem @& :.Z

. o4 A
ﬁiﬁi@wncpw&) G TV $)6) sjaniogsicians
SMWILDLY S g1/ (©) sy (D) Gsevib

68. Consider the following statements and ans

Assertion wer the right option from the given.

: Braindrain i :
Seatement [A) U:;m 1? related to educationally specific selective migration.
Statement (B) c mp Oyme.m.an.d under employment are the reasons for Braindrain.
A) Stat + Country of origin is gaining potential leaders and talent.
( C; Statzzznts ;A) and (B) are wrong @ Statement (A) true, (B) wrong
5_97 . . n (_ &;Wrong, (B) true (D) Statements (A) and (B) are true

GOT6U(MHLD GUTSH WIRBIBEGT & (RS IRA) s . NS . . . .
wrsBuSms Gsibols®, BSDe Qsne(h) CsTBSSLILL (BeTeTeuDDIeT Filwmest
FpDI © ABeY LeL1QLwisd ereirg) GsinC\s®SSLILL L S6val Fmi

LU0 uwiGeun( @gm_r'rqml_ujgn@,_b,

QuTSESWILD (A): 2AMey LeLIOLIwiEREE Cauameaumiiiteento Lppilb $&SSCaHU
Gmm@?uﬁ)mmw@’w HTIGSTLD )& Lb.

i3 V-

ab (B) : 9ism1(k) eTHIsMe SamewalisamantLb, HnenLo&TellE@ent L

QIS DSi.
YA) urs@uwib (A) wpmitb (B) seumy @ auns@wib (A) &f (B) seums

(C) aunsSwib (A) seum, (B) &l (D) euna@uwibd (A)-opmyid (B) &l
69. Which country is the largest produce of platinum in the world ?

(A) India (B) Russia (C) China @ South Africa

Qenm g e 2 HLSS UL 2 W& CawCuw WaiGufw Br® 6% ?

(A) @pSwr (B) geipwim (C) Gewrr Ogeir LSS
70. Drilling of oil wells is the hole drilled inthe ______layer of the Earth. %

(A) crust (B) mantle (C) inner core (D) outer core B

yai gyeamarui(® crenGlenTiid SEMISHT L& LILIBSFDET ?

(A) GuoGem g (B) HFSBE (C) o_air spaied (D) Gevel s@maled
71. Find out the wrong pair. . e :

(A) Mangal Pandegy — Barrackpur Rani Lakshmi Bai — Jhansi \),

(C) Velunachiyar — Sivagangai Kattabomman — Nerkattum Sevel

Feupnesr (9)emeusTenit FGHTL_ D). . . .
(A) i@agu,,m@_ = unga‘;g,r'r (B) UfTGWﬂwL_&L&unuJ - gnarﬁ
s L_Qumibwetr — QPaL B Ceued

(C) Geugypmd@uwimi — @Wé"g"'”‘“ o

o s

———
e G o S L 48 e i M A 15 5
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72. Who discovered the direct sea route to India from Europe ?

(A) Columbuyg (B) Megallen

@\’ascn da Gamma (D) Marco p()ln

L} (; I)
® i 0 ' IG)I héh ) [T I £
&Grmi'n 1/1@?7«.\9\/;,',;‘,'5, @n’,@)uumﬂm(a) @mog wi e m/!ﬁa.mu/ mats1 (p1 919 hh

(A) Osaeuibisen (B) Qnamsvavadr
~M’v(?wn &S0 (DY toniGan GrinBavn
73. Who C‘“Phﬂ;i_;(_i“ll;;nity of Hindu-Muslim ? %
(A) Ramanuja (B) Adi Shankara @J_(ﬂll'i_ (D) Meera Bai
Q& wpavedis @DmIeLoews e MISE weur wini 9
(A) @Unw@lgzﬁ (B) o8 amisyi M (D) Bym Limds

74. Who was the outstanding leader of Palestine Liberation Organisation (PLO) which was
formed in 1964 2

@Yassar Arafat (B) Robert Schuman
(C) Konrad (D) President Nasser
1964 &b 2 BoundsLi 1 LnwevSar alHsme QUIGHSBGHT LOHSSHTET SeOGUEUT WITT ?
@‘ WIFT ymg (B) gl amdwoesr
oAC) Casmesrgm (D) @i msi
75. Who founded the Adi Dravida Mahajana Sabha in 1893 ?
@Rettamalai SrinivasarL (B) Swamynathar
(O) T. S. S. Rajan (D) V.S. Srinivasasastri
1893 6v @G ymail_ LOS MGG FGOLI GTGHGYILD YGLOLIGHLI 2 (KeundSweurr wi o
@(@Lml_wmw Gesflaunger (B) soumblmngii
(C) T.S. S. gnggasr (D) V.S. weleuns srav@m Eﬁ

76. The name of the new Citizen Safety Mobile app launched by Tamil Nadu Police recently is

@ Kaavalan (B) Kaaval Uthavi  (C) TNPOL (D) TN POLICE

SLOPHIG) H16u6H &emDuIme LY LOSSEGT LIMGIHTUIL|SHTS FLBLISH6 CSTL_ Mg o
»4CGL8) Qgwaluflenr Quwii ?

@ana}wah (B) snased 2. g0  (C) yererGunsd (D) Y e1erGLneSen

A i, s g i S B S S o o o o St S S towane:

R TSR MSSS S SRR S e e et St .«
B T
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’ A
Euﬁ‘ Py “il ”lldll. \\’l‘(‘l-c \vus l‘"dch“l - ' ‘

" ¢ 4 °F Archyg ionl site um wlnhlmhc(l !
77. \) rl‘,'zl“‘l“h“l‘ (B) Korkai hm,nlup.u nl'sllc Museun c’ "

| }\,{b”‘. 1960 ST ls(ll)d.q.‘q“ﬂ i (C'y Musin Poompunal

$ = o ¢ ¢ )l;” . il
' l%pd:ony ? ’ M@y sstr memth o (mmimir Musmih .qsmmd L
b

\) SomISLbLIMY (B) @wmnpem.
A pena (Cy appd w Lytht s ‘

1

A9 Tag at the Toll Gates uses which wayeg 9

infra Red Waves - |
) Radio Frequency Wayes

' ) Ultra Violet Waves R
( (Dy Micro Waves

PR graug &ofled yeninbgieren o'siime, O erh Sama BEIm
,,‘,u?um@(%m‘n1@@5&1!,)“, 0 b 61bs

(:\) NS Han ny cwmasva.'.@n @ Qg (Burr ,qamamllﬂf{)’f_
(©) up LS T HOWHH | (l))—lb/m' |6V mﬁ)ﬂ
9. Match the following :
Country Year of Independence
i) Sri Lanka a) 1971
ii) China b) 1948
iii) Bangladesh ¢) 1949
iv) Pakistan d) 1947
(A) a b C d
(B) b a c d
C) b c d a
b c a ‘:d‘
QuIBSSIS :
BT &SBBILD CILIPD Qu(BL-LD
i) ggwr!ilasn a) 1971
i) Sewrm b) 1948
i) uniseTTGHal c) 1949
iv) LT&evS e d) 1947
A)a gib o e )
B)b a c d E%’
b C d a E :
@ b c a d

Ketta Thalaattugal’ ?

Erode Tamilanban
(D) Karthik Subramaniyan
predleir g@fwit w2
QAFFGUH@ SLpetTLIeH
(D) snig@é &LiSloemiwes

80. Who is the author of the book ‘K eezhadiyil

(A) S. Venkatesan
(C) Vela Ramamoorthy
‘Bupiguiich GaL L g BT GTGHTD
(A) &. QeunssBLae
v (©) Gaaw gmioepiss

_',-._.--.‘-—-—-
———————— -
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81. Complete the following :
If T had hag money, '
(A) 1 would invest in the business (B) 1 will have deposited in the bank

©) Twin buy a car [ would have donated

82. Choose the suitable question tag.
Nobody called, ]

(A) do they ~ (B) didn’t they @Adid‘rthey (D) don’t they
83. (?hoosc the correct passive form. . %
The manager appointed many office assistants, =7

(A) The manager were appointed many office asgistants
(B) Many office assistants appointed the manager

I\@&fﬁée assistants were appointed by the manager
(D) The manager was appointed by office assistans

84. Choose the appropriate word for the following :
“any building of a past age, regarded as a historically important place”.
(A) Exhibition (B) Laboratory Monument (D) Sanctuary

85. Fill in the Blank. |
If your friend always thinks the bqgﬁv’ill_ happen, she is
(A) Humorous @ Optimistic. (C) Creative (D) Frank

86. Choose the correct meaning of the idiom “a couch potato”.
(A) A clever person (B) An important person
QAn idle person (D) An ideal person

87. Choose the option which has logical relevance.
I. ‘Fine’ means healthy
‘Fine’ means the amount paid for punishment.
II. In the above sentences, the word ‘Fine’ is the example for ‘Homophone’.

(A) Iis false II is true @ Land II are correct
(C) I1is correct II is incorrect (D) I'and II are false
88. Match the following : -
a) Beauty I) Adverb oM
b) Pretty II) Noun Oit
c¢) Neatly III) Conjunction
d) Unless IV) Adjective

(A) IV 11T 11 @I vVim @IIIivir @) 11v i

89. Fill in the blank with the suitable conjunction.
You cannot go abroad you get the visa.
(A) still W () if (D) otherwise

90. Fill in the blank.

It is our responsibility — ____ Spamrows. .
to save (B) saving (C) to saving (D) for saving




; D 6763 ' C) 5 Wi
o ﬁarﬁw{lﬂg@ GTGW@!L}) Qs @) 199 ) siho uili (D) sapuli
(A pen WS e S 61(LpH G Ham L LILIGI
(©) B + s ed e + oo v 4
‘ B\ FOFD - DFQarrts @ o (D) ey + wipdlgad
03. @@@@L%@o‘,@;,n ,@‘i@mm\mﬂm @av . detd0)
(A) & DDAt &6l v @ywi. @plenLd L AUAVICE
(©) ueLS Qg renamer ¢ gL awi_d Ferailser

(D) afeward GClpransseir ,

o, LApaile e’ al:mg@ O G pym —_—
A) QS | b B s LS .
@ M@Mgwg"m (B)@L&mg LDHET BHTDIHLI LG5S @audbsTT
. (D) ‘erafd@Ls Lssmser eaumalssmt

$HIGHT Lot UM BT TEET

96. lUQ.)Lq) [ US) [ x 9_"5) . & N . . .
) Queriapid ei5luigyib Femn Codiger erear LG 7

(©) Quebiigpid N ulswiih Heim o uigpss T
. : . (wpeit Tevau LOGT 2
(D) Queviiapid B ulgmib fern o iiindeir srane L&@Lb?f(
97. ‘uenihd @cﬁhmb’ 616\'16'166)85'5' Q'.gm_ﬁ' ?
gspm 1 : flenarQwsss Qgm i
&mpm 2 : Quulrses Ogm_iy~
(A) aal'a?g)j L&, gmmmy 2 seumy B som 2 5M, s&pmy | seu
(€) &pmy 1,2 &l IMNSHFILD SaUm)
98. ‘@euBlency G aubg eniigih LgTUIGL’ -@eiauguiled ‘LFTLIGL’ CTGTLISEH
Cunmer wng ?

(A) 8yrear GummGer @ Guoavresr OummpGar
(C) QuerGevmer GlummGar (D) GlunCar
9, ‘sLa80 B) -a1ep FLOPEOFTOISHTAT, YEGwE Cleremad Gsis
(A) Visa (B) Migration (C) Immigration @ Passport
100. Gewreumid 1@ IFClFTHSHEETLI AGEETS %
1) erailgy — 1) ypeuevi Ol
2) Ag — i) g
3) epplwi - iii) @O
4) @ueweir — iv) apedernt

A m v 1 i

v i it 1
@ T
e D) i v i 1 -

e
ot o L S B A ST 5
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101. The following question consists of two sets of figures. Figure A, B, C, D constitute the
problem set, figure 1, 2, 3, 4 constitute the answer set. There is relationship between A and B.
Establish a relationship between C and D by selecting suitable figure from the answer set.

SN E
(A) 1 B (B)(2 © 3 @; S%g

dcirm@m Cxeraufety @ues(® QIS LOITET GUamTLIL_M1%6iT 2

eiTenest. euengLIL_mi%er A, B,

C, D eresricr G’admﬁ)é;@!ﬂw LIL.BISGT. uengL_miser 1,2, 3, 4 erairises WA EIEANT
ULm&eT A wpmiib B aln@ @ Cuw g OB m_riy 2 etang). Qsr(hss i L
@gﬂ@ul_ﬂaS?@/_r;g/ ClunmwgsLonest LIS a6 Csip6ls® g5 C wpmib D alesr @)er_ Gu

2 &rer QlmL_fewis BmieuayLb.

== (SN T
(A) 1 (B) 2 ©€) 3

Ex TMIPS

BY

E1%E
? QX Ega

Gaciroll @I L QLS8 s e1psgssmen amadsme Qs LL gz Bapey
Gl (LpLguyib

el
e

(A) DK

(A) DK

(C) DL

s o o
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G ing to the given dia " . eatements 18 tru€ !
@Accordlng £ gram Whth Ohe of the f()“()W'ng gtatem

103

'\ - Philosophers
Historian's

A) All historians are magicians @
) Some magicians are philosophers as wel] as historians

O) All historians are either philosophers or magicians
Some historians are philosophers

Magicians

o . : & 2. @D 7
Qar(PSSULIL L. QUenTUL S&6H epevLh 8 p 5 ator (56T 61pD P S

/[

——> ssgIuaITE

wﬁ,@ﬂ‘uﬂ.@

(A) eTbaIT augeTHpT@RAwGL SIS 2t ' o .
B) fav LBHTUTESET 55560 THWTS@LD, Gugsvﬂ,mg)ﬂ@fﬂluﬂcfdmlw {—;’Z‘:’;wn&cgm”
(C) erebe QuEMHDTFMWBLD RETD ssgIuuTBUTEGT ARSI O J 7

fev eugemHDTRAWiseT FS5IUUTEH Yo l Ev.TMIPC | ‘)L % |
104, IfAis to the South of B and C is to the East of B, in which direction is A with respect to C ? N
| (A) North-East (B) North-West (C) South-East @ South-West @: )

. . . 0 a . Lb Egﬂé}, C 8
A aiiug) B 6@ Qspansajib, C erarsl B 4@ Sypssnsab Q)G ) /9

Qurysseuey A e1hs Bansuiich 2-ciranSl

(A) L BpsS (B) au_Gp® (C) Glzair &lipses |
105. Ch the Venn diagram that depicts the correct relationship among th_e three groups.
. Choose the

: E¥E
Dogs, Pets, Cats O N

(©) (D)
(A) i OO

el NFshd@d 6laesr a@IUL S®SS
eLp e @@«i&aﬂml._(?m ghwmer 2-D q‘ . (9\

Gs /05 B soa LD

————

(D)




106. For the following question, various forms of a Jettey series are given with one term missing
as shown by (?). Choose the missing term Out of the given alternatives.

HUA  GTZ psy ERX ?

(A) DWQ 0 DQW (C) WDQ (D) WQD

Laireu(mip aflerrailed, 116 Gaums 61(LpSSI O3 i ser o sireman. @B el LI
LUCET T X P Wesraumid aflenr_asefladl g, Caing) 61(hdhsma Lb E¥E

HUA GTz Fpsy ERX ? &lgga

(A) DWQ @ pov| (C) WDQ (D) WQD
107. R is the brother of A. § is the sister of P. A is the son of S. How is R related to S ?
Son (B) Brother (C) Uncle (D) Father

R @resrieui A afiesr #Gsngyir. S eraircui P feir 5GangM. A erestueui S 61 Lo&HEHT.
R D& S P ereiren 2. D&y (LpeOD ?

¢ (B) #Gsngni
(C) wmwer (D) spes

108. A watch reads 4.30 of the minute hand points East, in what direction will the hour hand points ?
(A) North (B) North-West ~ (C) South-East ) North-East
RG @ $19.51758)60 Loewd] 4.30 ST ng), HLOL WPeT &lps& Crrs@udmpsTe,
LoawTl(LpeiT 618 Heansarw Brrse) [OICEIET
(A) eusgg (B) au_Guope
(©O) Osardpss { ! @! UL Blipsa

109. If the code for ‘STABLE’is 123456 and code for ‘LABOUR’is 534 7 8 9, then what
will be the code for ‘BOTTLE’ ?

@47225§ (B) 472556 (C)472265 (D)475526
‘Hev oI B g LuenL_uied ‘STABLE’ ereirugeir gplui® 123456 2 seyib, ‘LABOUR’
e1GTLISET GPII®B 534789 ysayb Q@uder, ‘BOTTLE’ ersrugeir @Pui® eratresr o
)‘@472256! (B) 472556 (C)472265 (D)475526

110. Raja moves from his house and walks 10 feet towards east, turns right and walks 3 feet.
Again he turns right and walks 14 feet. How far is he from his house ? o
(D) 42 feet E&g

(A) 4 feet @ 5 feet (C) 24 feet

grggn et oIy ellmpg Spse Crre® 10 sy pLbs 91 wevsnib Db
3 o119 pLSBPGHT. LYY UL Heuet euagILDL DB 14 g BLERDI6T. s
Q19 (G TGOS FITLOTS o eireres ?
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{11 Find the number of triangles in the figye bel
ow.

112.

113.

114.

® 10 @2 © 13 () 14

Bpar@ID UL SR 6Td5er (1 Gasragyyiyasir 2. 6T

EN B3

(A) 10 12 ©) 13 (D) 14

-

Which of thg Qiagram represent the statements ?
— Some musicians are teachers .
— Some teachers are players, but

— No musician is a player.

* (% ® D] ©

Werau@Ld UL SBl6b 618 QSRS ILL Herer unESWmISE6T GDSEDSI ?
- Do Q)evFwenLoLiLimeniiser & Mwirser
- o YO Awiser afleverwn” B oIgiser, gy anme,

- eI @)dFwaeoLiuneTisesd afleverwm () afgiser @eveamev
(A)(% ® | () ©|O O| | 1
Check the odd one out. )
1, 8, 65, 64
A) 1 ®) 8 @ s (D) 64
FNSBHEGLD T TBSSI TG!S %

O]

1, 8, 65, 64 :
(A) 1 ®B) 8 @i—{ (D) 64

Ramu ranks seventh from the top and twenty sixth from the bottom of a class. How many

students are there in a class ?

(A) 34 Q 32 (©) 31 (D) 33

@ uGLILIGT LG LILILI yL;Lq.waﬂdJ gp Cel@ig apraugl @LsosuyLb 8 sl
Qruss HpTUSI .@’—-.5“’.5“/‘-5 Qupguerenmi. eu@GLIde 1SSemerT LD TGSSTaU T& 61T

2 eI,
(A) 34 ® » f ©) 31 D) 33

J—
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115.

116.

117.

118.

119.

Find the missing character from the given alternatiyes.

16 12 21 9 IOY?
Y Y 16

(A) -21 (B) 12 (©) 32

deireumpid eratrseneh Gaerald@muIL L sray 618/ e16TI BT Bleyd 7
9

16 12 21 10 ?
14 15 16

(A) -21 (B) 12 (©) 32

If 80 is added to 80% of a number gives the same number. What is that number ?
(A) 500 @ 400 (C) 800 (D) 600

b gl (HLbGLINGy Qs eTevsT BHevL_SRm). s TS cTehar

@17 eT6¥sTeRAeir 80% 2 1 air 80 eng
(A) 500 (C) 800 D) 600

The next term in the sequence

15,17, 20,22, 25,... is

(A) 28 (B) 29 @ » (D) 26
15, 17,20, 22 65.... 1681 | Vg Meir IABSS 2 iy

(A) 28 . B)29 @ (D) 26

Kumaravel has paid simple interest on a certain sum for 2 years at 10% per annum is ¥ 750,
then the sum is

(A) % 3,650 Bz3750 (€345 D) % 37,750

&LorGased @@ GBI L Clsranss@ 10% aur’ iy aI588)6h 2 9y evr(paseir EINEET,
X 7508 safeu 19 wns G)argyg‘,,@fwn@ 9SG YFeb Glgrens BGL. mam
(A) T 3,650 I@ ¥ 3,750 o (C) T 3,450 (D) ¥ 37,750 E}%

45 planes were produced in 5 days by a company. How many planes will be produced in 18 days ?
(A) 125 (B) 324 E@ 162 | D) 115

@G WIITE 2 pUSH Cleiiyd Bnyeuar 45 aloremisenenr 5 B sefleh o s
CeuiBpg erafled, sypBpieuans 18 pr sl 2 PUSE Csuuyb Qo rewriasefler
c1avenllgens eraiias 92

(A) 125 (B) 324 @ 162 (D) 115




~25.

120. L Every rational number is a real NUmberg \/

!

121.

122.

II.Every real number is an irrational p ><

7 m Umber.
(B) Il is correct

(C) both I'and 1T are correct (D) both I and I1 are incorrect
L gaCaune a9 wm aaremin Quyquer. B8
IL. aIGlamy Cluour Qwsevwewyyih LI P pp—— tﬁ%
) esirug s pa—

N

- (B) 1 erairigl &1

[ ppid 11 @ueisib sh (D) I wopmyd 11 @ue(h)Lb Saum
Find the odd ;\rord.

Arrow (B) Sword (C) Knife (D) Axe
5el38BEGD anigmsmus sam@iiy
SiLbLy (B) eumeir C) 858 (D) Gamm

i

~

i

Arrange the words in meaningful sequence.
1. Weaving 2. Cotton 3. Cloth 4. Thread

@ 2,4,1,3 (B) 2,4,3,1 (©) 4,2,1,3 (D) 3,1,4,2

UTTSDSHET I SSLpeTar eufensulleh oi(5%saLb
1. Gy 2. umsH 3. glewfl 4. mrev

l‘@l 4,1,3]  (B)2,4,3,1 ) 4,2, 1,3 (D) 3,1,4,2

123. There are five different houses A to E, in a row, A is to the right of B and E is to the left of

124,

C and right of A, B is to the right of D. Which of the house is in the middle ?
@ A (B) B (©)C (D) D
A wpse E cuenr @ afensulled gBg aIBser o drere. A eraiLigl B et euavaud, E
e1eirigy C e @)L_Sayb, A afleir @ aitb 2 arerg). B ereirgy D 6t euav b 2 6irangy.
155 af®) BBl 2 eTaTgl ? o 4G
A (B) B ©cC (D) D ﬁ,‘%

In a class of 45 students, a boy is ranked 20" when two boys joined, his rank dropped by
one. What is his new rank from the end ?

(A) 25® (B) 26" @ (D) 28"

45 Loneseuiser LILSGLD UE@GLILIG R Fmyeuait 206ug) Curiig Quppyerenair. ) revwt(h)

Pyeviaer GopsGLNE sl 57 s SIDI G@DEgsing). s QG5!

gy yHw soauflens ercer ? 4
(A) 25* (B) 26" (D) 28"
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. P _ . ight than
125. Among 5 weight lifters P, Q, R, S and T, Q lifts 100 weight than P, but lifts less welg

T. Two of them can lift weight less than P, S dOcSOI:;t“],icf!t%l:]inimuln amount of weight. Who
among them lifts the maximum weight ?

@ T (B) R ©) 0 (D) S y
5 eomgns@Lauisesd (P, Q, R, S opmith T) ' P o ol P& e
gﬂ&@&?pnﬁ. ewred, T g @l @emparimey Sm;w,_m;;,r,u gﬂg@@pnﬁ. JIWﬁ&GrnG:l
@@mn f"&: L. &SODBS 6TemL_anil Hde; Wprguyib. S @m;mﬁﬁu‘—'—g GTeH LD

dsafebane. @artsaled, wrr yHsL g4 sTanL_aow FH&GHPTT ?

T 7 (B) R ©) Q (D) S
126. Match the following : E4E

1) Co-efficient of range 1)4:3 ’Elg%i

i1) Co-efficient of variation 2} 342
iii) 32 :24 3) Zx100%

X
1v) Ratio of 3 m to 200 cm 4) LS
L+S >

(A) 4,1,2,3 (B) 2,3,4,1 'g4,3,1,2_
Qunmsgis.

1) af45a0lawp 1)4:3

1) wrpur’ &6)swp 2) 32
iii) 32 : 24 ) Zx100%

X
iv) 3 18 E@th 200 Osid St S
L+8 ’
(A)4,1,2,3 (B) 2,3,4,1 4,3,1,2 (D) 1,4,3,2
127. Construct algebraic equations for the following verbal statement.
Ravi’s father’s age is 5 years more than 4 times of Ravi’s age. His father’s age is 33. Y
A\

(A) 4x-5=33  (B) 5x+4=33 @ +x+5-33 (D) 5x-4=33
Weireu@pLd eumiiComfls sappid@ ClumBSSLonar QPSS FLFTLN®R o (HeumdEs.
gadliileir gy iLimadler auwg gadluiler euwSeir 4 oL mIGL-GT 5 @08 gL Seni_LiLigy <2 (&LD.
gadluilesr gy Liumallesr auwgy 33 y@Lb.
(A) 4x-5=33  (B) 5x+4=33 @ 4x+5=33] (D) 5x-4=33
128. The triangle with perimeter 12 cm can be EYE
(1) An equilateral triangle E?%
(11) An isosceles triangle '
(A) Only (i) is true (B) Only (ii) is true
(C) (i) and (ii) are true " (D) (i) and (ii) are not true
12 Glg..8 appenayeiren psCsnemmisaer LIeTauBLOTDI S DWeLh.
() @0 swuss Lp&Csremons yeLoweTLD.
(i) @6 @BswusEs Wé&Baremons enLOWETLD.
A) (i) o (B) (ii) @b &
(i) oppib (i) & (D) (i) ppib (i) seugy

R Ty




ﬁ 27-
. he side of a square is 10 cm. Ifits side i« . . ) s - netel
129- ancieaS_e . i cm. Ifits side ig tripled, then by how many times will its perime
(*) zume?@ L5 tiEms (C) 6 times ) 3 timés_j
@0 530S o w&sh 10 Q.18 9 8 s oL ismeh GUTS)
FDDOTR CTSSEOGT LOL_ 515 M5 él.@esrﬂ%%lt?l;w ussLh epenpl ‘D'—‘ " @
(A) 2 LI (B) 4 wi_mig (C) 6 wrL_m® 3 LDL’_!ﬂI:é %

130. at is the probability of drawing a king or 5 queen from a deck of 52 cards ?

(B) 3/13 ©) 1/13 (D) 8/44 M _

] U &6 O e - *DNi . :
B e 04 s o b et
mpo!S SDS et .557$U>§504 GTIGHTG 9
213 q (B) 3/13 ©) 1/13 (D) 8/44

Refer to the Pie diagram which depicts monthly budget of a family and answer the following
three questions (131-133),

D
10% R A =Food

15% 25% B = Conveyance

C = Clothing
E (; D = Miscellaneous
5% 18% e
B E = Saving
12% F = House Rent

GBLDLISHIGH LOTE UIay QFeveys B L gagd &1 (LD LI SMSLI LTSS LD.
aflev_ F([HS.

eILILL g LITidg) LIeTeubLd eLpes Gseradseps@d (131-133)

R A= o ewey EYE
10% A B = Guné@auissl E%ﬁ:

i 25%
15% C=so L

y C D= @sr ClFevay a6
18%
20% [ E = Gabliy
L% F = af_(peun_ens

131. If total monthly income of the family is Rs. 3,080/- how much amount is spent on conveyance
. mo

per month ?
(A) Rs. 400 (B) Rs. 360 @rs30 D Rs s
aupLoTaILD ¢ 3080 eradfled, @ LLTSSHDS

GO buSPer CLoTdS LTS .
CunaGearssl5S ereueuenay GlgTas Qewall LILBEDSI ?

(A) ep. 400 (B) e5.360 (D) em. 325
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132. How much rept is paid by the family per mong}, 9

(A) Rs. 550 (B) Rs. 462 (C) R, 430 (D) Rs. 426

G w"i“g@.@@ @MIbLILh 616161616 afi’ ® oum_ena; GlaaybsI% 05 7

(A) em. 550 W&;M»Zl (C) em. 430 (D) em. 426
133. How much amount s spent on clothing per month 9

(A) Rs. 530 (B) Rs. 545 (C) Rs. 580 (D) Rs. 554

*® w"ﬁ.&.@,@@ DO L_S&0s 616101610 Cgneng Glaawaill 11 LWFDEI 7

(A) em. 530 (B) em. 545 (€) en. 580 T@_@- 554

obo
Answer the following 2 (134-135) questions based on the bar graph. 5(“
The given bar graph shows the population of three cities A, B and C in the years 2010, 2015 and 2020.
CSTRSSLILC L L e ueILILL SSL1 Ligg), Bpeursih 2 (134-135) Gaenalilsenss,
allen_ TIPS/ 5.
Qar®ésILLC Bairer L e amguL D6 2010,2015 wipib 2020 gy a5 b5 enssmem
A, B, C epeiiy papmisefer wasear Qsmemns Can® sl (Bereng).

3

T 36
35 33

30 ) . 30 7/
7/

|

\\‘N
W

18

ABC population (in lakhs)

I

2010 2015 2020

[ B ¢

134. Which of the following cities registered the greatest % variation in the population from

2010 to 2020 ? -
@ A (B) B '@%;3
)

C (D) Both A and B
2010 &Slempgs 2020 aueny 6165 pagBer wdser Osnems o9s sgalzib Ceumyuim’ yed

2_einongl.
®) B

©) C (D) A wppib B

. -——— . o——— ——
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135. In which year is the population of city B €Xxceeding that of city A by 20% ?
(4) 2010 (B) 2015
2020 (D) Both 2015 and 2020

IpS K6 B pard@er hseir 0lgmans, A pausBen whsen Glgresamuw adlL,
20% HSHLos o edreng) ?

w4
(A) 2010 (B) 2015 El%i

(D) 2015 wpmith 2020 @oesn(ib

Answer the following 3 (136-138) questions.

In a school, there were five teachers. P and Q were teaching Sanskrit and Maths. R and Q were

teaching Maths and History. S and P were teaching Hindi and Sanskrit. T and Q were teaching
Geography and Spanish.

8psev_ 3 (136-138) allannds@ps@ allewL_welldsayLb.

uereufled 5 @ Mwiger o erareri. P opmitb Q & Mwiisar FLOGVG) (FSLD LoPMILD FessfigLb

sps@priser. R wpmib Q @Awiser sellgd P TTD sHLISE DTS,

S wpmb P y@Awiser adlp wHMILD FLeVE BSLD sp9&@priser. T wpmyb Q

P Awrser yalulwed wppib evCuailey sHLISEDTIEET.

136. Who among the following teacher was teaching less than 2 subjects ?
A) P (B) R

) S Wo such teacher

155 HFNWISET 2 LITL_BISE5EE G®DaTS T(HSS D IiSHET.

(A) P (B) R
©) S [Wﬂ,g’g <2, Fflwi(mLd @wmﬂ
137. Which of the followiﬁg pair was teaching;;th Maths and History ?
(A) QandR (B) Qand S (C) Pand Q (D) None of these
53 o G AWTG6T SesfiBLb LLPMILD UIVTD] LITL_BISET SHLISEDTISET ?
9 Q Lo, (B) Q wpmyb S %
(C) P opmyb Q (D) @86 e1grayb @evener B

138. P and Q were teaching which subjects ?
Sanskrit and Mathi (B) History and Hindi

(C) Geography and History (D) Spanish and Sanskrit
P wppib Q e1pg LSS SDLIGEDTiseT ?
FLoavE LD LoPDILD SewliBLh (B) augevnyy opmith as®

(C) yauflwed wppiLb eyl (D) evGueay Pmyh FwaVEHSLD

e




139. Results of class X of a school are given below. Study the table and answer the questions.

[ Year [ 1991 [ 1992 | 1993 | 1994
Appeared 198 | 206 | 230 | 212

Passed 180 | 197 | 210 | 203

In which year was the pass out percentage minimum ? -
(A) 199] (B) 1992 (C) 1993 @1995 1 /

R0 LieTeNuesr USSTD IGLIL] (P56 EBrp Clsn(h)SSLILIL (h6ienest.
AL QuemestanuiL] Ly sg Caaralls® uRwallssad. @EsE
=

<24, 637 (p) 1991 | 1992 | 1993 | 1994 | 1995 | 1996
Caresierii 198 | 206 | 230 | 212 | 216 | 180

Csi48 Quppm | 180 | 197 [ 210 [ 203 [ 194 | 178

bS5 AT Csis aVRsLb @@ DauTs 2 GiTeng) ?

(A) 1991 (B) 1992 (C) 1993
140. Calculate the speed of the car.

360 | 60>
300 + (300)

E 240 + (240)

= (180)

g 180 +

] (120

g 120 +
| (60)

0 I 2 3 4 9 6
Time in Hours )

(A) 40 km/hour  (B) 50 km/hour @ 60 km/hour | (D) Cannot be determined

snMesr GeussLd er68Te ? ' EIEE]
" (360) [=

| |

J 300 4 1

- (240)

‘2 i (180)

g

fn] @

% 0 ] 2 3 4 s 6

Grob GrugdBed
(A) 40 &Cevr LB L_1i/1oawf] (B) 50 &Cevrm 5 1_ii/1oewsh)
60 &Gavr Lb'l;l__r'r/wmﬁ (D) 8riwnesfldspig wngy

aufp—c—

SN o st g BT SRR

5 B AL, 2 e A 50 . L e st 3 e s e SRS (9 1 M G T b AT, L 0 Gt bt 4 b s

1N St ot et bbb et S



k. THANGAMUTHU IPS AGADEMY

(A UNIQUE PLAC UNIFROM SERVICE )

eet o BT

- TNUSRB - PC ( POLICE )

= 2296 - 27-pFey . -

Qeoas gilys auGlysen Jrouib.
= g 6iI6n6u6H WHNID GBIl GGG 6N

.gnitﬂlmspsi'n HeuL clum&ims)
1 9965054293 | 9626699743
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